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iz % Bt =i AQ & | tHER Hig 2, B A0 =i A0 N = HEH

J\iEHhis 6,662 7,190 13,852 5415 2 |RAEAN £4F (RAEA| & |RH4EA| 2& |RHIEA
R F0 3t gk 3,299 3,475 6,774 2,176 J\iE Hhig 6,592 49 7,103 70 13,695 119 5,406 86
B &b 5,566 5814 11,380 3,925 R F0 3 gk 3,291 27 3,447 11 6,738 38 2,191 38
= B i 1,559 1,624 3,183 1,121 B R ibig 5,560 61 5,774 65 11,334 126 3,955 118
Kl i 2,042 2,123 4,165 1,375 = i 1,539 21 1,628 48 3,167 69 1,146 68
BA = $th 15k 837 903 1,740 565 35 i i 2,026 24 2,109 33 4,135 57 1,376 43
B g 859 934 1,793 699 BA = Hhig} 840 3 880 5 1,720 8 570 8
MLEFEHE 20,824 22,063 42,887 15,276 1B Hhig 851 13 928 41 1,779 54 708 52
BLEFEE 20,699 198 21,869 273 42,568 471 15,352 413
¥R (RTA LL) A 22 8 A 32 A2 A 54 6 A1 6

KEREXRBRAQZSABEAEREZED,

B =i IN= HER
P SHEA (T2 4) 172 248 420 354 ERI0FEIR1HRAE BLEHEREXRSRADRVUHTF(BERADHA)

iz 4 B x| A0 B | HEH
J\iEHhigg 6,543 7,033 13,576 5,320
KiHhis 3,264 3,436 6,700 2,153
B & 5,499 5,709 11,208 3,837
=R 1,518 1,580 3,098 1,078
5 i #h J5f 2,002 2,076 4,078 1,333
BA = Hhigk 837 875 1,712 562
B g 838 887 1,725 656
B EHLAE 20,501 | 21,596 42,097 | 14,939
¥ (RTA LE) A3 A30 A 60 A7




